
 
 

The IA
inform

The Fin
accoun

 

S
FA

Pro

Pa

CO

 

 

 

This
mee
eith
una
pub

Wha

1. T

c

m

d

2. A

3. A

t

4. A

r

f

5. A

p

6. T

p
ASB is the independe

ation visit www.ifrs

nancial Accounting 
nting that govern the

TAFF
ASB│IASB 

oject 

aper topic 

NTACT(S) 

s paper has be
eting of the FA

her board.  Com
acceptable app
blic meetings in

at is this p

This is the t

comprehens

mechanics o

discount rat

Agenda Pap

Agenda Pap

the insuranc

Agenda Pap

remeasurem

from OCI to

Agenda pap

present chan

This paper w

plan to ask t
ent standard-setting 
s.org  

Standards Board (F
e preparation of finan

F PAP
Meeting 

I

T
c

J

A

J

R

een prepared 
ASB or IASB.  
mments on the
plication of U.S
n FASB Action

paper abo

third paper i

sive income

of recording

te in OCI.   

per 2A/82A 

per 2B/82B 

ce contract l

per 2D/82D 

ment of the in

o profit and 

per 2E/82E p

nges in the i

will be discu

the boards t
body of the IFRS F

FASB) is the nationa
ncial reports by non

ER 

Insurance 

The mecha
changes in

Jennifer Weine

Akwasi Ampof

Joanna Yeoh

Rachel Knuble

by the staff of 
It does not pu
e application o
S. GAAP or IF
n Alert or in IA

ut? 

in a series o

e.  The purpo

g changes in

contains ba

asks the boa

liability aris

discusses w

nsurance lia

loss under s

provides a c

insurance li

ussed at a n

to make dec
Foundation, a not-for

al standard-setter of 
ngovernmental entiti

 

Contracts

anics of usi
n the insura

er jm

fo a

jy

ey rk

the IFRS Fou
urport to repres
of US GAAP o
RSs.  The FAS

ASB Update.  

f four paper

ose of this p

n the insuran

ackground in

ards to cons

sing from ch

whether cum

ability recog

specified cir

comprehens

ability arisin

non-decision

cisions on th
r-profit corporation 

the United States, r
ies.  For more inform

 

s 

ing OCI to 
ance contra

mweiner@fasb

aaampofo@fas

yeoh@ifrs.org

knubley@ifrs.o

undation and th
sent the views
r IFRSs do no
SB and the IA

rs on consid

paper is to a

nce liability 

nformation 

sider the use

hanges in sp

mulative gain

gnised in OC

rcumstance

ive example

ng from cha

n making joi

hese issues a
promoting the adop

responsible for estab
mation visit www.fa

IASB A

FASB A

1

present sp
act liability 

b.org 

sb.org 

org 

he FASB for d
s of any individ
ot purport to se
ASB report thei

deration of th

sk the board

arising from

on the use o

e of OCI to 

pecified assu

ns and loss a

CI should be

s. 

e of how OC

anges in inte

int education

at the joint m

 

ption of IFRSs.  For 

blishing standards of
asb.org  

Agenda re

Agenda re

7 - 19 Apr

pecified 

+1  203.

 +1  203.

+44 20 7

+44 20 7

iscussion at a
dual members 
et out acceptab
ir decisions ma

he use of ot

ds to consid

m changes i

of OCI. 

record chan

umptions.  

arising from

e reclassifie

CI can be us

erest rates. 

n session. W

meeting in M
more 

f financial 

f 2C

f 82C

ril 2012 

956.5305 

956.3421 

7246 6481 

7246 6904 

 public 
of 
ble or 
ade at 

ther 

der the 

n the 

nges in 

m the 

ed 

sed to 

We 

May. 



  IASB Agenda ref 2C

FASB Agenda ref 82C

 

Insurance Contracts │ The mechanics of using OCI 
Page 2 of 24 

 

Staff analysis  

What should be recognised as interest expense in net income? 

7. In agenda paper 2B/82B, the staff recommend that the effect on the insurance liability 

of changes in the discount rate should be recorded in OCI. In this section we discuss 

the interest rate that should be used to determine interest expense in net income. 

8. The staff considered three alternatives for determining what should be recognized in 

the profit or loss: 

(a) Interest equal to the expected long term return on assets  

(b) Interest equal to the current rate at the beginning of the reporting period 

(c) Interest at the rate locked in at inception of the contract. 

9. Some believe that using an adjusted asset based discount rate (e.g., the expected 

return on assets) in net income reflects an insurer’s business model. Under this 

approach, an insurer would: 

(a) In net income, report interest expense using the long-term rate the insurer 

expects to earn on its investments (i.e., a rate determined based on a 

probability-weighted estimate of the net cash inflows that it expects to earn on 

its investments, net of expected defaults/losses, after deducting a risk 

adjustment)  

(b) In OCI, report the difference between discounting the liability using the 

current discount rate (based on the boards’ tentative decision) and the long-

term expected rate of return on investments. 

10. Using an asset based discount rate in net income would reduce any accounting 

mismatch between interest income and interest expense. However, it also masks any 

economic mismatch that exists between the insurance liability and assets backing that 

liability. In addition, the staff believe using an asset-based discount rate in net income 

is inconsistent with the boards’ decision that the discount rate used to measure the 
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insurance liability should reflect the characteristics of the liability.  Therefore, the 

staff did not explore this alternative further. 

11. Some respondents to the ED stated that it is important that interest expense reported 

in net income is based on a current rate. However, they believed that the effect of 

changes in interest rates should be presented in OCI. To achieve this: 

(a) the interest expense reported in net income would be based upon the interest 

rate at the start of the reporting period; 

(b) the effect of changes in the interest rate from period to period would be shown 

in OCI. 

12. However, this approach has a number of problems: 

(a) It fails to meet one of the objectives of using OCI in that it introduces a new 

accounting mismatch in net income. Interest expense is based upon the 

interest rate at the start of the reporting period; however, interest income (if 

assets are recorded at amortised cost or FV-OCI) is based on a locked-in 

historic rate. 

(b) Under this approach, amounts recorded in OCI do not naturally reverse to zero 

by the end of the insurance contract. 

13. The staff believe recognizing total interest expense equal to the discount rate at 

contract initiation (ie the locked-in rate) has the following advantages: 

(a) It achieves one of the objectives of using OCI in that it reduces accounting 

mismatch in net income if assets are measured at amortised cost or FV-OCI; 

(b) The amount recorded in net income and OCI is easily explained to users. The 

total interest expense each year is based upon rates locked in at inception 

(similar to amortised cost); OCI is equal to the difference between the liability 

at the locked in rate and the current rate. 

(c) The amount recorded in OCI will naturally reverse to zero by the end of the 

insurance contract   
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14. Based on the above, the staff believe that total interest expense recorded in net 

income should be based on the interest rate at contract inception. The rest of this 

paper assumes that the boards agree with this view. 

 

How should interest expense be presented in net income? 

15. The staff has identified two alternatives for how OCI could be used to reflect changes 

in the discount rate  which are illustrated in Appendix A:  

(a) Alternative A—Present interest expense in net income calculated using the 

discount rate locked in at inception. Present in OCI other changes in the 

insurance liability arising from changes in the discount rate. 

(b) Alternative B— Present in net income interest expense calculated using the 

current discount rate plus an amount transferred to/from OCI such that the 

total interest expense in net income is equal to interest calculated using the 

discount rate locked in at inception. 

Alternative A—Use OCI and present interest expense using the locked in 

rate 

16. Under this alternative, interest expense presented in net income would be calculated 

using the discount rate at inception. Other changes in the insurance liability arising 

from changes in the discount rate would be recognized in OCI. Under this approach, 

the amount included in accumulated other comprehensive income (“AOCI”) equals 

the difference between the present value of the remaining cash flows discounted at 

the current rate and the present value of the remaining cash flows discounted at the 

locked in rate. 

17. Presenting interest expense using the initial discount rate throughout the life of the 

liability would be consistent with the effective interest approach in IAS 39, Financial 

Instruments, Recognition and Measurement.  
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18. This is also consistent with ASC Topic 310-30-35-2      

Upon completion of a transfer of a loan, this Subtopic requires that the 
investor (transferee) shall recognize the excess of all cash flows expected at 
acquisition over the investor's initial investment in the loan as interest income 
on a level-yield basis over the life of the loan (accretable yield - The excess 
of a loan's cash flows expected to be collected over the investor's initial 
investment in the loan.)  

19. In addition, at the January 27, 2012 FASB Board meeting, the Board tentatively 

decided that, “...for purchased financial assets with an explicit expectation of credit 

losses, favorable changes in cash flows expected to be collected would be recognized 

immediately in profit or loss as an adjustment to the impairment expense.”  Implicit 

in this tentative decision is that the yield rate is locked in and thus is consistent with 

this alternative. 

Alternative B— Use OCI and present interest expense using the current 

rate plus an amount transferred from OCI to net income 

20. Under this alternative, interest expense presented in net income would be calculated 

using the current discount rate. An amount would then be shown transferred from net 

income to OCI such that the total interest expense in net income is equal to interest 

calculated using the discount rate locked in at inception. As with alternative A, 

changes in the insurance liability arising from changes in the discount rate would be 

recognized in OCI.  The amount reported in AOCI would equal the difference 

between the present value of the remaining cash flows discounted at the current rate 

and the present value of the remaining cash flows discounted at the initial rate.   

21. US GAAP has a requirement to identify items that are displayed as part of net income 

for a period that also had been displayed as part of OCI in that period or earlier 

periods.   

(a) ASC topic 320-10-50-9 requires entities to disclose “The amount of the net 

unrealized holding gain or loss on available-for-sale securities for the period 

that has been included in accumulated other comprehensive income and the 
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amount of gains and losses reclassified out of accumulated other 

comprehensive income into earnings for the period”.   

(b) In June 2011, the FASB issued Accounting Standards Update No. 2011-05, 

Comprehensive Income (Topic 220): Presentation of Comprehensive Income 

which required entities to present reclassification adjustments to show the 

effect of reclassifications on both the components of other comprehensive 

income and the components of net income in interim and annual financial 

statements.   

22. Before the issuance of Update 2011-05, under U.S. GAAP, preparers had the option 

to present reclassification adjustments out of accumulated other comprehensive 

income either on the face of the financial statement in which comprehensive income 

is reported or in the notes to the financial statements. Also, before the Update’s 

issuance, U.S. GAAP did not require that the impact of reclassification adjustments 

on the components of net income be presented in the financial statements.  In general, 

users have indicated a preference to have reclassification adjustments, and their effect 

on net income, presented on the face of the statement of comprehensive income. 

Users noted that such a presentation would provide users with more straightforward 

and detailed information that could be analyzed more easily. 

23. Update 2011-05 was deferred based on stakeholder feedback that noted difficulty in 

gathering the information necessary to present the impact of reclassification 

adjustments on the face of the statement where net income is presented, particularly 

for interim financial statements. Collection of this information may be especially 

difficult for reclassifications of OCI that are initially reported in a balance sheet 

account (such as certain pension-related costs capitalized as inventory) and 

subsequently reclassified to net income at a later date together with other items of net 

income.  However, the staff do not believe that the reasons for the deferral apply to 

the unwind of the discount rate in excess of or less than the discount rate set at 

contract initiation and therefore could still be a viable adjustment to include in the 

face financials. 
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19. Alternative B is akin to the two-step presentation proposal for changes in credit risk 

in IASB’s exposure draft  Fair Value Option for Financial Liabilities.  Under the 

approach in that ED, the entity would present the entire fair value change in the 

liability in profit or loss.  Secondly, the entity would ‘back out’ from profit or loss the 

portion of the fair value change attributable to changes in the liability’s credit risk and 

present that amount in OCI.  An alternate one-step approach was presented in the ED 

whereby the effects of changes in liabilities’ credit risk would be reported directly in 

OCI.  Most respondents to the ED did not support the two-step presentation because: 

(a) there is little (if any) added benefit of the ‘gross’ presentation in the 

two-step approach and the extra line items on the face of the 

performance statement result in unnecessary ‘clutter’. 

(b) The one-step approach provides users with the same information as the two-

step approach but is less complicated and more efficient (eg it requires fewer 

line items in the performance statement). 

Comparison of the approaches 

 Alternative A Alternative B 
Eliminates an accounting mismatch in net income if 
the assets are held at fair value through OCI or 
amortized cost. This reduces volatility in the income 
statement. 

Advantage Advantage 

Short term changes in discount rate are recognized in 
OCI rather than net income. Some believe that this 
better reflects the long-term nature of insurance. 

Advantage Advantage 

The effects of the changes in the discount rate are 
segregated in OCI providing useful information 
while addressing the concerns that the volatility in 
the discount rate would over shadow the 
performance of the insurer (see paragraph XX). 

Advantage Advantage 

Provides information about  the current rate and the 
amount transferred from OCI to net income 

Disadvantage  
(could require 
disclosure) 

Advantage 

Accounting mismatch arises in profit and loss when 
assets are measured at fair value through profit and 
loss. 

Disadvantage Disadvantage 

An entity would have to track the locked in discount 
rate for each portfolio of contracts and within that 

Disadvantage Disadvantage 
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portfolio by similar inception dates (as the locked in 
rate will vary depending on when the contract is 
issued).  These contracts would then need to be 
tracked through future periods and compared to the 
present value of the cash flows at the new current 
rate to determine the adjustment to OCI.1   

 

Staff Views 

20. Both alternatives minimize the accounting mismatch caused by recording changes 

in the insurance liability arising from the changes in the discount rate in net 

income if assets are recorded at fair value through OCI or amortized cost.    

21. The staff recommend Alternative A, under which insurers will present in:  

(a) Net income interest expense using the discount rate locked in at inception of 

the insurance contract; 

(b) OCI changes in the liability arising from changes in discount rate. 

Question 1: Mechanics  

What are the boards views regarding alternative A and alternative B? 

Alternative A—Present interest expense in net income calculated using 
the discount rate locked in at inception. Present in OCI other changes in 
the insurance liability arising from changes in the discount rate. 

Alternative B— Present in net income interest expense calculated using 
the current discount rate plus an amount transferred to/from OCI such that 
the total interest expense in net income is equal to interest calculated 
using the discount rate locked in at inception. 

 
 

                                                 
1 While this adds complexity, insurers track this today, especially for products that are accounted for using 
locked in discount rates. 
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What discount rate should be applied to changes in assumptions?   

 

22. The staff considered whether the current discount rate or the initial locked-in 

discount rate should be applied to changes in assumptions such as increases in the 

expected cash outflows when calculating the interest expense to be presented in net 

income.  Example 5 in Appendix A illustrates the alternatives for what discount rate 

should be applied to changes in expected cash flows.  

23. Some believe that in order to properly recognize the full effect of an increase in the 

expected cash flows in net income at the time expectations change, the increase in 

the expected cash flows would have to be discounted at the then current rate (with no 

effect on OCI).  In future periods, the current rate would become the locked in rate 

for those cash flows. This would be consistent with the view that an increase in the 

liability is the establishment of a new liability.  An extreme example is if an insurer 

believes there are no claims left on an existing portfolio and therefore has no liability 

recorded.  Subsequently, it is determined that the insurer is obligated to pay for 

claims.  This was the case with asbestos claims and other similar situations as well as 

with many claims that involve lawsuits. 

24. In regards to resetting the discount rate for changes in expected cash flows, US 

GAAP guidance requires the yield to be updated for financial assets in several 

circumstances.   

(a) ASC Topic 320-10-35-35 states: “In periods after the recognition of an other-

than-temporary impairment loss for debt securities, an entity shall account for 

the other-than-temporarily impaired debt security as if the debt security had 

been purchased on the measurement date of the other-than-temporary 

impairment at an amortized cost basis equal to the previous amortized cost 

basis less the other-than-temporary impairment recognized in earnings.... For 

all other debt securities, if upon subsequent evaluation, there is a significant 

increase in the cash flows expected to be collected or if actual cash flows are 

significantly greater than cash flows previously expected, such changes shall 
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be accounted for as a prospective adjustment to the accretable yield.... 

Subsequent increases and decreases (if not an other-than-temporary 

impairment) in the fair value of available-for-sale securities shall be included 

in other comprehensive income.”  

(b) ASC Topic 325-40-35-4, Beneficial Interests in Securitized Financial Assets, 

states: “If upon evaluation...based on current information and events there is a 

favorable (or an adverse) change in cash flows expected to be collected from 

the cash flows previously projected, then the investor shall recalculate the 

amount of accretable yield for the beneficial interest on the date of evaluation 

as the excess of cash flows expected to be collected over the beneficial 

interest's reference amount. The reference amount is equal to the initial 

investment minus cash received to date minus other-than-temporary 

impairments recognized in earnings to date ... plus the yield accreted to 

date…The adjustment shall be accounted for prospectively as a change in 

estimate in conformity with Topic 250, with the amount of periodic accretion 

adjusted over the remaining life of the beneficial interest.” 

25. However, under the expected interest rate method for financial instruments in IAS 

39, changes in expected cash flows are discounted using the original effective 

interest rate (ie the locked in rate). 

26. In addition, a question arises on how to isolate a change in the discount rate applied 

due to a change in expected payout patterns (e.g., a different rate on the yield curve 

would be applied to the different timing in expected cash payments) and a change in 

the discount rate because of market movements (and potential changes in asset mix 

if using a top-down approach2 to determine the discount rate). 

                                                 
2 The Boards tentatively decided that in applying the top-down approach:  
1. An insurer should determine an appropriate yield curve based on current market information. This may be based on 
the insurers’ determination of the yield curve for the insurance contract liability on a yield curve that reflects current 
market returns for the actual portfolio of assets the insurer holds or for a reference portfolio of assets with 
characteristics similar to those of the insurance contract liability.  
2. If there are no observable market prices for some points on that yield curve, the insurer should use an estimate that is 
consistent with the Boards' guidance on fair value measurement, in particular for Level 3 fair value measurement.  
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27.  For increases in the expected cash flows or for changes in timing of the cash flows, 

isolating the changes in the insurance liability related to the change in discount rate 

would be challenging.  For example, the staff believes that an entity would have to 

layer the cash flows within the liability and the discount rates used to initially 

recognize the liability and each of the changes to the cash flows.  These layers would 

then need to be tracked through future periods and compared to the present value of 

the cash flows at the new current rate to determine the adjustment to OCI. 

28. The staff considered how the layers described in the preceding paragraph would be 

consumed by cash out flows. The staff believe that because the changes in the 

assumptions would impact all contracts within a group of contracts or within the 

portfolio (for instance an increase in the price of building materials in a geographic 

area to a property casualty insurer, or change in mortality within a group of life 

insurance contracts), the layers should be relieved proportionally, unless the actual 

pattern of payout can be identified differently.   

29. The staff also considered how to treat decreases in expected cash flows.  However 

the staff believe that decreases in cash flows could only be unwound at the rate those 

amounts were initially discounted at. 

30. The staff believe that applying the current discount rate to changes in assumptions, 

such as increases in the expected cash outflows to calculate the amount presented in 

net income, would significantly complicate the model without much benefit. 

Question 2: What discount rate should be used for changes in 
expected cash flows?  

What are the boards views regarding whether interest expense presented 
in net income in respect of changes in expected cash flows should be 
based on the discount rate locked in at inception of the insurance 
contract?    

                                                                                                                                                 
3. The cash flows of the instruments should be adjusted so that they reflect the characteristics of the cash flows of the 
insurance contract liability. In adjusting the cash flows, the insurer should make both of the following adjustments: 
Type I, which adjusts for differences between the timing of the cash flows to ensure that the assets in the portfolio 
(actual or reference) selected as a starting point are matched with the duration of the liability cash flows; Type II, which 
adjusts for risks inherent in the assets that are not inherent in the liability. In the absence of an observable market risk 
premium for risks inherent in the asset but not inherent in the liability, the insurer uses an appropriate technique to 
determine that market risk premium, consistent with (2).  
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Appendix A: Illustrative examples 

A1. The following examples illustrate alternatives A and B and the effect of 

discounting changes in cash flows at a current discount rate. 

Assumptions 

A2. The staff performed an analysis of a portfolio of insurance contracts with expected 

payouts of CU10 million over 15 years to illustrate Alternatives A and B 

compared to the IASB’s ED and the FASB’s DP which required changes to be 

recorded to profit or loss. The following five examples are presented: 

(a) Example 1 is a baseline with a 5% discount rate throughout the 15 years 

(b) Example 2 also uses a 5% discount rate with a change at the end of Year 5 to 

7%  

(c) Example 3 uses the 5% discount rate with a change at the end of Year 5 to 3% 

(d) Example 4 demonstrates the impact of annual changes in the discount rate 

(e) Example 5  uses a 5% discount rate with a change to 7% at the end of Year 5; 

expected cash flow change at the end of Year 8 and a discount rate change to 

8% at end of Year 10 

Summary of Effect on Net Income 

A3. The effects of Alternatives A & B are identical.  As such, one line is shown to 

reflect both alternatives.  

A4. Example 2 shows that when not using OCI a large gain results when the discount 

rate increases and subsequent earnings are slightly lower.   

A5. Example 3 shows that when not using OCI a large loss results when the discount 

rate decreases and subsequent earnings are slightly higher.  

A6. Example 4 shows the same effects as Examples 2 and 3, along with the increased 

volatility that comes with a rate change each period.   



  IASB Agenda ref 2C

FASB Agenda ref 82C

 

Insurance Contracts │ The mechanics of using OCI 
Page 13 of 24 

 

A7. Example 5 illustrates the effect of discounting changes in cash flows at a current 

discount rate.     
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Example 2: 5% discount rate with a change at the end of 
Year 5 to 7%

OCI not used Alternatives A & B
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Example 3: 5% discount rate with a change at the end of 
Year 5 to 3%

OCI not used Alternatives A & B
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Example 4: Yearly changes in the discount rate

OCI not used Alternatives A & B
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Example 5: At inception, 5% discount rate; change to 7% 
at end of Year 5; ECF change at end of Year 8; and 
discount rate change to 8% at end of Year 10

OCI not used Alternatives A & B
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